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Chapter 18 —Index Numbers

Past Trends
Attempt Theory Practical Time Series Marks
May 2018 7 2 1 10
Nowv 2018 1 2 2 5
Jun 2019 2 2 3 7
Nowv 2019 1 1 3 5
Now 2020 2 1 0 3
Jan 2021 3 0 0 3
Jul 2021 0 4 1 5
Dec 2021 4 1 0 5
Jun 2022 6 0 0 6
Dec 2022 3 2 0 5
Jun 2023 2 3 0 5
Dec 2023 2 3 0 5
o Index numbers are convenient devices for measuring relative
. changes (generally in %) of differences from time to time or from
Practical hzcgto (‘irzcc Yool of i peeices 2
¢
Examples of pracetopeace ‘ ;
) o Series of numerical figures which show relative position
Index Numbers 3 - '
e Index Numbers show percentage changes rather than absolute amounts
of change
s It depends an the purpose for which the index is used.
e Index numbers are often constructed from the sample. Random
: sampling, and if need be, a stratified random sampling can be used
Data Selgetion pHng, and 1 meed B —ﬁ ‘ pring « l
to ensure that sample is representalive.
e Data should be comparable by ensuring consistency in selection
method.
s [tisa point of reference in comparing various data.
o Standard point of comparison.
Base Perjod o The period should be normal.
o I should be relatively recent
o Choice of suitable base period is a temporary solution
o The geometric mean is better in averaging relatives,
Use of /}yag&s e But for most of the index's arithmetic mean is used because of its
simplicity




Theory

Price/ For Individual Commodity,

Quantity/ Current Period Price/ Quantity/ Value

Value Relative Base Period Price/ Quantity/ Value
P 1 PE P.% P "

Link Relative P,’P, P, Py

Same can be created for quantities also

When the above relatives are in respect to a fixed base period these are also
Chain relatives/ | called the chain relatives

Chain Indices Py P P3Py

Po'Pp'Py"" " Py
Formula for Link relative of current year x Chain Index of previous year
Chain Index 100
(when direct The chain index is an unnecessary complication unless of course where data for
data is not the whole period are not available or where commodity basket or the weights
available) have to be changed.

Example: Find Link Relatives and Chain Indices using the below data:

Year 1991 | 1992 | 1993 | 1994 | 1995 | 1996 | 1997 | 1998 | 1999 | 2000

Price 50 60 62 65 70 78 82 34 88 90
Ik retodves 100 120 | 0933 qug“i '07'6c' B vErGae e s
chn‘m

2 ool YO0 . . .
rave 100 120 29

it poe dedm ot given omly link rlodves T en  ghwin,index

199 ) 1992 933 (39 Y 199§
Link velohey |00 12.0 102-32 10y-2Y 167-€9
chaunvd. 100 126X100 10332 X120 1o4-8y X /24 10765 X130
100 | 0O loQ L)V
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Theory

. e Chances of errors due to Sampling
Limitations of . - e
Tt v e [t gives broad trend ot real picture
ndex Numbers ’ ; o2
e Due to many methods, at times it creates confusion
e [ndex numbers are very useful in deflating (eg. Nominal wages into
real)

Usefulness of e  Framing suitable policies in economics and business
Index Numbers o They reveal trends and tendencies in making important conclusions

e They are used in time series analysis to study long-term trend, seasonal

variations and cyclical developments
Shifted Price Original Price Index 100
x
Index Price Index of the year on which it has to be shifted
Q012 K016 2017 018 20|%
hewbos
100 130 19y Iso D !
loo% 1Y\ 100
P . l_ Iso 100 xqu = 9(¢
ractica _ 50
= 9¢C
—_—
Methods of Index Numbers

Simple Aggregative Method

Price Index is expressed as total of commodity prices in a given year

Method . -
as a percentage of total of commodity prices in the base year
=P
F 1l —Lx100
ormula =P,
Merits Easy to compute
Demerits Commodity with higher price will have greater influence in index value

price quotations become the concealed weights which have no logical
*

O
significance (hidden)

If units of prices are changed, index will also change




Example: Find Price Index of Year 1999 and 2000 taking 1998 as base using Simple Aggregative
Index Method.

Base
Commodities 1998 1999 2000
Cheese (per 100 gm) 12.00 15.00 15.60
Eqq (per piece) 3.00 3.60 3.30
Potato (per kg) 5.00 6.00 5.70
Sum 20 R4.6 2y 6

ndex for 1999 = 2Y-6 xloo= /23
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Example: Find Price Index of Year 1999 and 2000 taking 1998 as base using Simple Aggregative
Index Method.

7]

o

g Commodities 1998 1999 2000
g Cheese (per 100 gm) 12.00 15.00 15.60
é Eqg (per dozen) 36.00 43.20 39.60
= Potato (per kg) 5.00 6.00 5.70
7]
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MTP June 22

@ (1) The simple index Mherﬁar the current },;g?f’using simple aggregate method for the
% )d following data A
= Commodity | Base year Current
E base Price (P0) Year Price
Z (P1)
a Wheat 80 100
: -4
g Rice 100 150
o -
= Gram 120 250
2 Pulses 200 300
<
E a. 200 500 o0 . 150
z
<
= 240 @/ 160
o
2z
2 x 100 = |60
< Soa -t
a
Z
=)
(o]
o5
<
(3
Simple Average of Relatives Method
¢ Under this method, we invert the actual price for each variable into
Method percentage of the base period. These percentages are called relatives.
o The index number is the average of all such relatives.
E_"
Formula 7
N
Merits *  One big advantage of price relatives is that they are pure numbers.
e Price index number computed from relatives will remain the same
regardless of the units by which the prices are quoted
e Inspite of some improvement, the above method has a flaw that it gives
equal importance to each of the relatives (Will not be suitable if the
Demerits commodities do have equal importance in Index)
o This defect can be remedied by the introduction of an appropriate
weighing system
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CA FOUNDATION QUANTITATIVE APTITUDE | INDEX NUMBERS

Example: Find Price Index of Year 1999 and 2000 taking 1998 as base using Simple average of Price
Relatives Index Method.

Commodities 1998 1999 2000
Cheese (per 100 gm) 12.00 15.00 15.60
Egg (per piece) 3.00 3.60 3.30
Potato (per kg) 5.00 6.00 3./
Pric relalives
Chesre |oo 12§ 130
tay 100 120 (to
Potale 100 120 "9

avg of prica 100 121-6¢ e
relalves

Example: Find Price Index of Year 1999 and 2000 taking 1998 as base using Simple average of Price
Relatives Index Method.

Conmmodities 1998 1999 2000
Cheese (per 100 gm) 12.00 15.00 15.60
Eqq (per dozen) 36.00 43.20 39.60
Potato (per kg) 5.00 6.00 5.70
<99 100 120 1Mo

(Index same)



MTP Mar 22
(2) The index number for the year 2012 taking 2011 as the base year from the data given
below by using simple average of price relative method is
Commodity A B €L A E
Pricein 2011 | 115|108 [ 95 | 85 | 90
Pricein 2012 | 125 | 117 | 108 | 95 | 95

a. 112 | 27

c 120 v SlIE

2013 L L TE S L N T
s g =~ 35 85 ' N/ X
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Practical

Weighted Aggregative Index Method

e Under this method we weigh the price of each commodity by a suitable
factor often taken as the quantity or value weight sold during the

General Points base year or the given year or an average of some years.

e There are various alternate formulas (depends on base used)

e Here indices are shown as %




Practical

Method Name Remark Formula
Laspeyres’ Index Weight — Base Year Quantity EPO. 100
- . n L X
ZP:.)Q-J
Passche’s Index Weight — Current Year Quantity PO 100
n ®
EPJQH
Marshall-Edgeworth Index Weight — Sum of Base Year ZP(Q,+Q,)
Quantity and Current Year ZP(Q,+Q.) g
Quantity ) ,
Fisher’s Index GM of Laspeyres’” Index and ZPQ, EIPQ
= ”‘" . 1 = X i ”XIOO
Paasce’s Index IPQ, IPQ,
Bowley’s Index AM of Laspeyres” Index and ZPQ, XPQ.
Paasce’s Index ZEQ, PO
2
Example:
E Find Price Index using all weighted aggregative index methods
1]
b
2 Commodities 1998 (Base Year) 2020 (Current Year)
E 914, Price Py Quantity9, Price P, Quantity 9,
= A 19 1 10 5 9
§ B 3 20 3 20 4
E C y.S 50 2 44 2.5
<
1]
E L= IPVI:"’XIOO = |9%8 xwu =99 M= Ir"(q'+q") xl00 = q33><foo
= TXR 200 TP (9 +%) Yy
q —
3 —— = 98. 18
z = niy = 238 - _—
: X X100 = 915, g 2 fUxP & Jog x975]
< 79, 24|
z = 99.2§5
o]
TS
g 8= LtP. 98 .25

2




PYQ June 19

0 (3) The prices and quantities of 3 commodities in base and current years are as follows:
2 h% o Po | 2 118 [) &
é TPl 12 14 10 20
§ o | Ese = 10 8 20 30
= sCo X 8 10 30 10
E The Laspeyre price index 1s
5 a. 118.13 /( 107.14
-
= & 120.10 d. None of these
z
<
=
o
z
o
3
o
=
=,
2
<
o
PYQ July 21
2 (4) The weighted aggregative price index turnover for 2001 with 2000 as the base year
§ using Paasche’s Index Number is:
2 Commodity Price (In %) Quantities SujEl
g frn b 2000 f, 2001 P, 2000 2001 qn
5 " A 10 12 DY 22
[
9, B 8 8 6 18
£ C 5 6 % 11
o D 4 4 X 8
=
= a. 112.32 b. 112.38
% c. 112.26 A 11220
=) sf 9 S06
z 2 F —=—— xi® = (12195
2 <19, 4s| —
=)
z
=)
2
<
(&)
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PYQ July 21

(5) The weighted aggregative price index turnover for 2001 with 2000 as the base year
using Marshall Edgeworth Index Number is:
Commodity Price In (%) Quantities
90+9n 2000 Py 2001P, 2000 o 2001 In

A ya 10 12 20 22

B 3y 8 8 16 18

C 2 5 b 10 11

D Is 4 4 7 8
s 112.26 b. 112.20
ol 112.32 d. 112.38

Z'f., Oo"fqu) .ﬁ%_xwo = [/2.2852
S P, (9+9n) &s3

MTP Nov 21
6) If Laspeyres index number is 250 and Paasche index number is 160, them Fishers Index
number is IS{IT8
a. / 200 b. 120
C. 150 d. 170

V2sox1€06 = ge



PYQ July 21
(7) The weighted aggregative price index turnover for 2001 with 2000 as the base year

using Fisher’s Index Number is: gl s r" % ysé

Commodity | Price (In%) Quantity XI0D = 112.3 |
Zf% 6
2000P] 2001f, 2000, 20018
- DN 12 | 20 L7 L P =ThMh g6 iz li2:20
B [8 | 8| 16 [[18 %9, gsi
& \5 ] 6 10 Rl
D /| 1 gl NEA
N 112.26 b. 112.20
c. 112.32 d. 126.01

F= Jm.ai X N2-20 = [12.28Y
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PYQ Nowv. 20
(8 In Laspeyre’s index number is 110 and Fisher’s ideal index number is 109. Then
Paasche’s index number is
a. 118 b. 110

c. 109 y 108
109 = JHoxp
p= 108

CA FOUNDATION QUANTITATIVE APTITUDE | INDEX NUMBERS
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PYQ May 18
) If XPQ, =1360,>PQ, =1900 X P,Q, =1344 X P,Q, =1880 then Lasperey’s Index

number is

o 0.71 v, 1.39

e 1.75 d. None of these

00
(360

= (.39

MTP Dec 22 - Series 1

(10) In the data group, Bowley’s and Laspyre’s index number is as follows. Bowley's index
< number is 150, Laspyre’s index number is 180 then Paasche’s index number is

(:/ 120 b. 30

C. 165 d. None of these

B":,SO L-;-_I'BG P’-?




Practical

Weighted Agqregative of Relative MethodeX

General Points

e To overcome the disadvantage of a simple average of relative method, we
can use weighted average of relative method

o  Generally weighted arithmetic mean is used although the weighted
geometric mean can also be used.

o [t issame as Laspeyres’ Index

2
Formula Ep B EP O
—L———x100(=—="%100 ——d
"—'P.OQO ‘-‘Pr.'Qu
\"--_..-/

Practical

Other Topics having practical problems

Cost of Living
Index (also
called General

o (LI 15 defined as the weighted AM of index numbers of few groups of
basic necessities.
e AM nf group indices gives the General Midex

o  Generally, for calculating CLI; food, clothing, house rent, fuel &

Index) lightning and miscellaneous groups are taken into consideration.
o Lxamples of CLLI: WPI, CP], etc.
_ Current Value
1};2};?:;3 {;:I rZue | eyt Walue _Prr"r:e Index of the current year
o Itis used to calculate the value in real terms




MTP Oct 21

9 (11) From the following data for the 5 groups combined
§ Group Weights @ | Index no T Zwl
= Food 35 425
= TWw
& cloth 15 235
2 Power&fuel | 20 215 = 26920
8 Rent&rates 8 115 (€O
= miscellaneous | 22 150
o -
= The general Index number 1s = 2612
=
= a. 270 / 269.2
g v/
> C. 268.5 d. 272.5
3
o
z
=
b
(=]
=
=
2
<
o
MTP Nov 20
(12) In year 2005, the whole sale price index number fs 286 with 1985 as base year, then

how much the prices have increased in 2005 in compar:son to 1993

a. 286% ‘ b. 386%

€. 86% (V 186%

86+
Y 286
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(13)

(14)

MTP Apr 21
The cost of living index numbers in years 2015 and 2021 were 97.5 and 115
respectively. The salary of a worker in 2015 was  19,500. How much additional salary
is required for him in 2021 to maintain living standard of 20157

a. Z 3000 b. %4000
‘c/ & 3500 d. %4500
2015~ QW2
cLT CYES ns
Salouy 19800

19500 y s = 23000
s —

addihmal 23000 —|9Ses = 2500

MTP March 22
Suppose a business executive was earning
FZ 2,050 in the base permd What should be his *-Iﬂm’lf in the current period thrb

standard of living 15 fo remain the same? Gwen Y W=25and ) IW=23544:
a. 2096 — . Z 2906

e I2106 d. 32306
CG.l Ql_ lnde.)(

2544 _ .76
28

RSO , 14l-76¢ = 930608

|00



MTP Nowvo 20

@ (15) During the certain period the C.L.1. goes up from 110 to 200 and the Salary of a worker
E X is also raised from 330 to 500, then the change in real terms is
2 : Loss by < 50
E b. Loss by X 75
2 C. Loss by < 90
- d. Nore of these
=
&
<t
>
& cLL 1o 200
=
- Salouy 330 Sec0
o
z
& (Base yeo) TS 2=
: €20 & 5B
=)
(o]
L ——
- ©
O S
le2n
Theory
Test of Adequacy
o This test requires that the formula should be independent of the unit in
Unit Test which U‘.".‘_fUI’ whf'ci'i prices ft?‘l.d rlirtm’.tfitics are ('fr,mf‘e.zl. ‘
o Except for the simple (unweighted) aggreqative index all other formulue
satisfy this test.
Timme Reversal s Itisa test to deterinine whether a given method will work both ways in
Test time, forward and backward.
L] J!]r” X .P:ro = I
o Laspeyres” method and Paasche’s method do not satisfy this test, but
Fisher’s Ideal Formula does.




Theory

Factor Reversal
Test

o  This holds when the product of price index and the quantity index
should be equal to the corresponding value index.
o Symbolically
Py x Qm = Vi
o Fisher’s Index Number is ideal as it satisfies Unit, Time Reversal and
Factor Reversal Test

Circular Test

o  This property therefore enables us to adjust the index values from
period to period without referring each time to the original base.

e [tis an extension of time reversal test

o The lest of this shiftability of base is called the circular test.

o This test is not met by Laspeyres, or Paasche’s or the Fisher’s ideal
index,

Ml he weighted GMjﬁre!m‘ivf’, simple gymetric mean of price
relatives and the wcightﬁ}«ggmgative with fixed weights meet
this test.

(These methods are not in syllabus)

Symbol of
Index

e Py, is the index for time 1 on 0 0) | ow O
o Py is the index for time O on 1
10 I Ia 0 o |

Theory

Theory

Concept Insights (Newly Added)

e [t represents the entire stock market. It shows the changes taking place in
the stock market.
e Movement of index is also an indication of average returns received by the

Stock Market .N.I,Ef‘p‘qhm;' ; s : ’ ’

i . m‘rh the help of an index, it is easy for an I}it?L’SfUr to com pare performance
as it can be used as a benchmark, for e.g. a simple comparison of the stock
and the index can be undertaken to find out the feastbility of holding a
particular stock.

o Examples: India — Sensex of BSE, Nifty of NSE
o [t is the oldest stack exchange Mﬁaﬁi was established as “The Native
Share & Stock Brokers Assoctuation™ in 1875.
o The Securities Contract (Regulation) Act, 1956 gives pernanent recognition
unbay Stock Fxchghge in 1956.

Bombay Stock | «  BSE became the first stock exchange in India to obtain such permission from

Exchange the Government under the Act.

Limited . mmrins busket of 30 constituent stocks. The buse yeur of BSE
SENSEX is 1978-79 and the base value is 100 which has grown over the
years and quoted at about 592 times of base index as on date.

e As the oldest Index in the comntry, it provides the tHme series data over a
fuirly long period of time ( from 1979 onward).

National Stock | e NSE was incorporated i Yt was recognized-as~a stock exchange by
SEBI in April 1993 and commenced operationsbg 1994,

E':rd%e

e NIFTY30 is a diversifidd 50 srocBI niex of 13 sectors of the economy.
e The ¥ase period of NIFTY 50 Index is 3 November 1995 and base value is
1000 which has grown over years and quoted at 177 times as on date.

Following steps are involved in calculation of index on a particular date:
e Calculate market L‘ﬂpim{i_}w'on of each individual company comprising the

Jiad s R




Following steps are involved in calculation of index on a particular date:
e Calculate market capitalizgbton of each mdmﬂ’um‘ contpany cotipr ising the

index.
¢ Calculate the total market capitalization by adding the individual market
Marker capitalization of all companies in the index.
Capitalization |* Computing index of next day requires the index value and the total market
Weighted L‘ripi@‘he previous day and 13 computed as follows:
Method o indexvalue today =
.‘// . _ tol market capitalisatioh for current day
index on previous day x

total market capitalisation for previous day

Note: almost all equity indices worldwide are calculated using the market
capitalization weiglted method.

e Consumer Price Index/ Cost of living Index or Retail Price Index 1s the Index
_—"J ———— -

CPI which measures the effect of change in prices of basket of geods and services

. ape Lo s ot s

_/ on the purchasing power of specific class of consumer during any current

period w.r.t to some base period.

o Wigle Sale Price Index> 1he WL measures the relative changes in prices of
= " A ——
imodities fyaded in wholesale markel.

wrl /

\.__...-/
Theory MCQs
@ Study Mat
o (16) A series of numerical figures which show the relative position is called
§ a / index number
: b. relative number
a (v absolute number
2 d. Nore of these
= usuol/ Study Mat
E (17) Index number for the base perikert as
= a. 200 b. , 50
= . 1 :/ 100
= Study Mat
2 (18) - play a very important part in the construction of index numbers.
E :.E/ weights b. classes
g e, estimations d. none
2 Study Mat
=] (19 is particularly suitable for the canstruction of index numbers.
= i ~
< a. HM b. AM
= ¥
= 4 G.M d. None
o Study Mat
3 (20) Index numbers show chunges rather thgn absolute amounts qf chan e
. relative / percentage

ok both d. None
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(21)

(22)

(23)

(29

(25)

(26)

(27)

(28)

The makes index numbers time-reversible.
a. AM S GM
(i HM d. None

Price relative is equal fo
a, Price in the given year x100

Price in the base year

b. Price in the year base year x 100

Price in the given year
G Price in the given year x 100
d. Price in the base year x 100

Index number is equal to

a. sum of price relatives

‘b/ average of the price relatives

(o5 product of price relative

d. None

The of group indices gives the General Index

a. HM e—— e G.M

L;./ AM d. None

Circular Test is one of the tests of

y index number b. hypothesis
c both d. None

is an extension of time reversal test

a. Factor Reversal test

I‘l/ Circular test

(5 both

d. None

Weighted G.M. of relative formula satisfy test
a. Time Reversal Test

V Circular test

4 Factor Reversal Test

d. None

Factor Reversal test is satisfied by

rr/ Fisher’s Ideal Index
b. Laspeyres Index

c. Paasches Index

d. None

Study Mat

Study Mat

Study Mat

Study Mat

Study Mat

Study Mat

Study Mat

Study Mat
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(29)

(30)

(31)

(32)

(33)

(34)

(35)

(36)

Study Mat
Laspeyre’s formula does not satisfy

a. Factor-Reversal Test
b. Time Reversal Test
£ Circular Test
\d,/ all the above
Study Mat
A ratio or an average of ratios expressed as a percentage is called
a. a relative number
b. an absolute number
F)/ an index number
d. None
Study Mat

The value at the base time period serves as the standard point of comparison
a. false y true

c both d. none
Study Mat
An index time series is a list of numbers for kwo or more periods of tim
aq index b. absolute
c. relative d. Norne
Study Mat
Index numbers are often constructed from the
a. frequency b. class
/ sample d. nomne
Study Mat

is a point of reference in comparing various data describing individual
behaviour
a. Sample J/ Base period
c. Estimation d. None
Study Mat
The ratio of price ofSingle ronuno&i tDm a giwwﬂd to its price in Hif:'ggen’f ng
year price is called the
a. base period b. price ratio
V relative price d. None
Study Mat
Sum of all commodity prices in the current year x 100

Sum of all commodity prices in the base year is

a. Relative Price Index

.!/ Simple Aggregative Price Index
£ both

d. None



w0
o
w
o
=
=]
2
>
w
(]
2
w
o
-
E
(=
o
<
w
>
'_
E
-
=
<
=
(o]
Z
o
=
<I
(=]
=
=
o
e
<
(&}

CA FOUNDATION QUANTITATIVE APTITUDE | INDEX NUMBERS

(37)

(38)

(39)

(40)

(41)

42)

(43)

Study Mat
Chain index is equal to

a. link relative of current year x chainindex of the current year
100
b. link relative of previous year x chainindex of the current year
100
‘t/ link relativef current yea) x chainindex of thgprevious yedy
e
d. None
Study Mat
B, is the index for time F
.ﬂ/ Ton0 ol
b. Oonl
C. lonl
d. Oon0
Study Mat
B, is the index for time ?
a. Ton0 0
V Oonl
& Tonl
d. Oon0
Study Mat

When the product of price index and the quantity index is equal to the corresponding
value index then the test that holds is

a. Ulm'f Test Po. X Q,. - VO!
b. Time Reversal Test

‘/ Factor Reversal Test

d. none holds

Study Mat
The formula sho the unit in which or for which price and
quantities are quoted 111

‘;/ Unit Test

b. Time Reversal Test
C. Factor Reversal Test
d. None
Study Mat
Laspeyre's method and Paasche's method do not satisfy
a. Unit Test
b. Time Reversal Test
c. Factor Reversal Test
‘d/ b&c
Study Mat
The purpose determines the type of index number to use
a. yes b. no
i may be d. may not be



Study Mat

v (44) The index number is u special type of average
o a. false b true
= . both d. None
: Study Mat
a (45) The choice of suitable base period is at best temporary solution
% ﬁ‘/ true b. false
a e both d. None
= Study Mat
E (46) Fisher's IWOHH ula for calculating in ‘dy! umbers satisfies the fests
b a. Unit Test
H b. Factor Reversal Tes!
E : both
= d. None
g’ Study Mat
o (47) Fisher's Ideal Formula dose not satisfy test
E a. Unit Test
= b/ Circular Test
e C. Time Reversal Test
a d. None
Study Mat
" (48) satisfies circular tesi
i r(/ G.M. of price relatives or the weighted aggregate with fixed weights
% b. A.M. of price relatives or the weighted aggregate with fixed weights
3 G H.M. of price relatives or the weighted aggregate with fixed weights
o d. None
2 Study Mat
E (49) Laspeyre's and Paasche's method time reversal test
= a. satisfy
= F:/ do not satisfy
: (& are
= el. are not
E simple Study Mat
'é (50) There is no such thing as unweighted index numbers
) 5/ false b. true
g i both d. None
E Study Mat
a8 (51) Theoretically, G.M. is the best average in the construction of index numbers but in
= practice, mostly the A.M. is used
+ o false J/ true
3 o) both d. None
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CA FOUNDATION QUANTITATIVE APTITUDE | INDEX NUMBERS

(52)

(53)

(54)

(56)

(57)

Study Mat
Laspeyre’s or Paasche’s or the Fisher’s ideal index do not satisfy

a. Time Reversal Test
b. Unit Test

5/ Circular Test

d. None

Study Mat
is concerned with the measurement of price changes over a period of
years, when it is desirable to shift the base

a. Unit Test
v Circular Test
% Time Reversal Test
d. None
Study Mat
The test of shifting the base is called
a. Unit Test
b. Time Reversal Test
g/ Circular Test
d. None
Study Mat
The formula for conversion to current value i.e, Deflated Value =
a. price index of the current year
previous value
V current value
price index of current year
c. price index of the previous year
previous value
d. None
Study Mat
Shifed price index=— m‘-igr'rm.’ pricei :mfcnf 100 _
price index of the year onwhich it hastobe shifted
True
b. False
C. Both
d. None
Study Mat

The number of test of Adequacy is

%.
He W U1 ko



Study Mat

(58) We use price index numbers

(k/ To measure and compare prices

b. to measure prices

C: to compare prices

d. None

Study Mat

(59) Simple aggregate of quantities is a type of

a. Quantity control

l?/ Quantity indices

C. both

d. None
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